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Name:_ L€
Trig — Test 1

9/17/2015
D Sin;p;igfy the folli\zixig expressions and write it with Ezsi;iv;e exponsréts:‘? . ?,
ﬂ)m Py 3&7"- b) (xx 5 y_4) ,:_’X?Z_ = _z_-h_“
, y X2y X
o) (2x » 3x3)? Eéxg dy x*y* (4x?y %) b x &
Y

2) State the domain and range of the following relations AND state whether or notitisa
functien. Use interval or set notation for what is apprepriate.

{(2,-1),(=3.4), (54} (2,-2)} b furckin D! g -32,57
AN WRT

-ﬁmc'f?i"’f .
b) s D: E 7,5]
e R~y )
¥
¢)
2 2")7"!) ¢4 ’ ;
ﬁj Z D‘} é/ 7/ ‘S)’j
)
; : 2 3 5 10
Y 0 1 2 = :
Pt Df-<a 2o 05

ﬁ Z =%, P}; &, ’; ‘2x 'if;



3) Solve the following inequalities and write your answers in interval notation.

a2x+1<9 E—> 3rb)§>11~} X221 CEup
X &Y Y S -y 33
oty ey
)dx+528x -9 d)3x+6—x<;—3x
2ty @y —> F3x ¥
4) Simplify the following radicals X< =4 = o
a) 2[27x%y8 Exﬁ'ylgffl by (@ba®h”s  JATH = gy o
R g """")
VxS xy Uxy? V8l Y5y
q Y
A
33 %3

5) Find the distance and midpoint of the following segments and endpoints. Write your radicals
in simplest form.

2 (--*573 5) b M (":%)Q) A= Vv (l*-:‘fjl?- (T;__S;z

> : o i o 2
N 14g “
—_t \-, .

A —:\\ : 1

b (2-3)&(-85 A=V (520 (o) ERY
M=) = a )

6) When you have the same bg 3¢ while multiplying, you keep the base and M the
exponents.

7) Use completing the square methed to put the equation of a circle in standard [orm.

x2—6x+y*+12y—16=3
Xl"‘éx , 2 yz'.j—fl/ ~ S = {94 4 _"&-3‘{5\
; 2 2
(K-—S) 4 (y ) 26y
C(B,“‘é)} =g



Name: & €1/ 10/18/2017

Tri g Test 2
1} Given the fo'ilowing information, fill in the missing columns.
Function Notation Name Graph
| I
] v
flx) =x3 Cubic -
/
G
. ] =,
{_ . [o— . 1
z 7( [x} = V-I X Square root i
{‘— ()c) = b ( onsteat

2} Find the distance between the following points AND the midpoints. Write your answers in the
simplest radical form.

Ci e AN LI LI M(75 -2
) — - - . .._...-—-—If‘;‘; o . .
d=Jgr e | 4w

, <
3) State the domain of the following function rules

— ; —

L IRIEEIS ) 0 fx) = A5 mTEEC o
@ - : _ L-(;St’ {.,O) //7
Of() =50 2k ERE Of)=V32-8% 5, ... =
b :}' %3 i i _

DR

' T e —a0,4 ’
R =



4) Use the following graphs to answer the questions:
a) What are the intervals of increasing and decreasing?
b) What is the domain and range of the functions?

¢} What are your x- and y-intercepts?

i () X"f-'-4‘?L.-:/." L

@ ? a) ,rncrcaﬁﬂny - @”3) &) | /y-.‘/wtf,f,' (2,~1)
pdc/eczb'r-}y N (.—6/ _3) L/ 60/3)
b) V[, 3]

N R, 1]

t L1 a) ;/tcr.:'.ofsfl—.? N é:j_/,.éa— (0/ 5‘) C) X it (<2, S:, o)
. - T H T ﬂfc/ga%'?_' ("If/ ) (2. Sie)

SRR ) VL) ynk (02)
]%fﬁ-—))_é‘)

I

"N

o
M

5) What is the average rate of change going from f(1) te f (x) of the function:

f(xX)=4x+2 Yfd —£ . Ix~4
. ! e = i
—~ ")
6) Tell if the following parent functions are even, odd, or neither: (2& 1) E

a) Parabola Eve

DW= e,

7) Give the following piecewise function. ) Evaluate it for the given values and II) Graph it.

4x,x =0 . -
fx)y={x?-30<x<2 R
Ay f(1) =72 boftedd b L
Y) DG =2 T
O f(0) = e
D) f(=2) = ~¢ —
I 7 -
e) Graph. P Y
Y
1
L/




11/17/2017

Tri g Test 3

Name: k't?i’/
{

1) Convert the following angles to degrees. Put your answers in decimal form.

2) Convert the following angles to radians. Leave 7 in your answer,

a)80°' k8 by225° . 5x
7 7, o
) -360% L . _ax d-15°/% | -z
190 [go 1
3) Filt in the following table for the angles given.
g — a) 45° b)—120° [¢)-Z
Quadrant: s T e L 1Y
sin(6) +J1/a - [/ ~t
cos@ | FLh |~ 0 0
tan(0) | + g2/ I tod

4) Convert the following from decimal form to seconds and minutes.

16%20 7 457"

a) 23.650833 p b) 16.5125
) X 60 23739727 ) x40
“rrely 2%
‘ )
¢) 29.605 g d) 30.004
297361 £60 _
174 ¢ #
KL — 7 oo’ "
3. 7 ’
Kbt xed
— ——

1y



5) Convert the following from seconds and minutes to decimal form.

4]
a) 32°32'32" 32, g*{:&f b) 10°25'50" 10, $403
@ Yo

¢) 197°24'10" d)6°1240" o

197,178

6) A wheel is turning 25 revolutions per minute. If the radius is 1.5, what is the linear speed of

the wheel? _ ‘/
2§/W Vs :ﬁ}[ = W/ e
ﬂi-'/}i { <& . =50 S

= 75y FHain

7) A car traveling 60mph has tires that are 2.5t in diameter. How many rotations are the tires
making per min? (5,280ft = 1mil)

MMHHJ £~[_f’bﬁ,_ - 'zyoﬂ S wed s
h/fv f M“ 60/“;4
i mc/[ fcc/ ;
g 2/1/“« /5’)6fez//

8) Given the following coordinate points, find the sine, cosine, and tangent of the angle made L___\\H ’7'

with the positive x-axis and the terminal side of the point.

et

k- [aB—4) [b(=512) 9(21)
Quadrant: 17 N 7
sin(0) | — /3 DY/ SRR i
cos(9) |+ ¥ —Sh3 e
tan(9)} — U/ — 12/ + y.)__

A g4

A



Name:

10/277/2017

Trig Quiz

1) Given the following sets of points and graph. 1) Is it a function?, 2) Find the inverse., 3) Is the inverse
a function?

) {((-1.2,(23),(-L=D.(0,6)}  yes, §(> ), (32, (-14), (66 % yes,

b) {(m.0).(r.9).(am)} yes £ (o), (57, C;-r,a)}/ yes.

VD Ve e

2) Given the following piecewise function, find each value.
x2+1lifx<1
fx)=1{2+xifx=1

9—xifx>1
a) f(1y =3
by f(0) = |
c) f(5) =4

3) Given the function; f(x) = 2x — 5 ; A) ~
- ¥ A e v <_/.-)
a) What i1s the domain and range of the function? . e RS

—_————

. . Cm oy T = .
b) What is the inverse? ‘: 4 i %= NS - ‘%
57 2 ),:'.

o -

¢) What is the domain and range of the inverse? p: (-2 :f:) £ {—.e9)

4) Find the domain and range of the inverse if the original function’s domain and range are given.
a) D: (—o0,00) R: (—9,3] U {6,10) po(=1,3) (i)

Ri (=222
by D: [0,4] U (5,10); R: (=5,10] U {11,25) (=52 t(.“-_]{_/ ZH/;LS’) g iey] LS i)

5) Determine if the following functions are inverses of each other.
g0 = f(x) = 32 + 10

3 - SoFXY L
" 3= ) Hie

~O+X A

x v






11/3/2017 Trig — Quiz 9
15 | {57 o
‘C) L2 55y

Name: Morgan
Iy Convert the fo]lowmg angles to degrees Put your answers in decimal form.
180 407

z =6 DE o
e

a) 5| 7
2) Convert the following angles to radians. Leave 7 in your answer. _
| ¢)90°] o7

Fi%) 2

a)%_% \b)_@;/,aq L

3) Convert the following from decimal form to seconds and minutes
A2 Ko 2 15252

a) 15.2542 gc;’ﬁ“ s
e 251X/

b) 14.1519
11797
4) Convert the following from seconds and minutes to decimals.
6.3 o
< e &5

,252‘3 6.3
. o

—_—

a) 19°6'18 14 jes

b) 25°1'59” Te

2570731 c:3

5) Use the formula s = r6 to find the missing variable in the following problems. _
a)s = 4ft,r = 2ft lbys=6ft.o=" Fc)r=8m.9=6° L7
4 : P .
(5% 3

122G - = gL
é - e
7= 7. 14 39






Name: 11/9/2017 Trig — Quiz 10

1) Con\écrt the followi mg3 angles to degrees. Put your answers in decimal form.
faS’O
) = 2j°

b) 8;( J&b - Eéc}e
2) Convert the following angles to radians. l.eave 7 In your answer.

a)235°) 7t - »-*7/1
gz~

by - 75°] > f
lgo = T3
or e ang]es given. (Opts)

3) Fill in the followm0 table fi

0 — a) -~ 60° b) .3; c) 270°
Quadrant: I_z hrd & T < T
sin(8) — 7 F V2 -
cos(8) |4 Y5 — b’f/z 5
tan(6) | — /3 - ,Lgm:a/

4) A wheel is turning 20 revolutions per minute. If the radius is 3f¢, what is the linear speed of the

; 20 h - o~
wheel? 2L vz ] X rod — U o
if?’h"/f[ { Ve - t{ce’?f—({i/ l/: %&7‘}
it i - {)C_//Zf:f*/hff?

5) Use the point {— 4, 3} to make the terminal side of an angle. What is the sine, cosine, and tangent of
that angle? (Leave your answers in fraction form.)







Name: Morgan (K"éy 12/1/2017 Trig — Quiz 11

-4 Reduce the first expression to the second in each of the fotllowing.
“a)tan® x cos? x, sin® x
b) (1 + tan? x) sin® x, tan® x
7
2) Using the triangle on the right and the values given, fill in the following £ a
chart.

TrigFunction{a)a=2,c =3 |bja=4,b =3
sin6 3/ e , ,,?‘;-
cos @ V573 3/~ ’
tand 25 4/3
csc o 3/5 g-/i.f
sect 735 572
cotf 'J;/l 3_/!{'

3) Fill in the following table for the angles given. (6pts)

6 > a) —90° by = ¢) 0°
& )'!;5:_»

Quadrant: [ e or b T <y
sin{6) —1 — Y IS
cos(8) o - ‘/_;/z_ !

w@ [ -, s
CSC(B) — - 2 éf,/"_@(
sec(8) e {f - 2/3/ 3 )
cot(8) 0 ]z el .

Mfsin 8 = 0.3, then find the following:
“a) cos(90 — 8)

b) sin® 8
¢) cos? @

d) sec? 8






Trig — Semester Review

9/4/2015 xXe ©
-2,,3}% Y

1) Simplify the following expression and write it with positive exponents: % = “i‘}‘
3)
a) What is the domain and range of the following relation? {(2,- 1), (- 3,4),(54), (2,- 1)}
b) Is it a function? Why or why not? 0. 532,55 K 5UY3  funchin -2 cac: dormein

o utlug. Glrs te oty eupe
4) Simplify the following radical: 3/x8y10 = x"y’“ S x7 Tingre, 7 e
5) Fill in the blank:
When you have the same bc{,g while multiplying, you keep the base and qzlcé the
exponents.

When you have the same Pase  while dividing, you keep the base and s ;¢ fwf the
exponents.

6) Draw a graph that is not a function. Make it very clear so I do not have to guess. | ALWAYs

ZUCSS WTong,. EE"?
=

9/11/2015
1) Using the following pomts (2, 3)&[ 6, 5] . g
a} Find the midpoint between them. {_ 4) d = V¢ b l v (§ 2
b) Find the distance between them.
2) Write the following inequality in words and interval notation. (You have 1o solve il first)
-2x+ 5= -7 2 tmes X ples 5T D /ES;:‘&? -

4
3) Using the following points: (1, 3), (1?— 1), (4,('— 1) x>
a) Show that these points form a night triangle A 6 & o)
. . ) >
b) What is the area of the triangle? t4.3= ¢ Y Q_ 3 H’ L2
¢) What is the perimeter of the triangle?(72 7 pTy b v

4) Simplify the following radical: 3/ 648x5y%  X-3xy* Vi

6) Use the completing the square method to solve the following quadratic equation:

x?+2x-3=20 (x*.zxv-?)-3+f
(X))
9/2572015 X+ 2 42 X=-3 7
1) Solve the following inequalities, graph the solutions, and write your answer in interval ”
i -2,
notation. X£Y Gmef  x2 s —> (-2, 9
ayd4x - 5< 11AND3x+ 5> -1 S
byds -3x-2< 10 §c-ixan B2 x 5y G
©)-4k < -160R-2k> -8 k54 oR K<Y [ne solr] o2 [y
2) Test the following for symmetry about the x axis, y-axis, and the origin.
- rele (e followi ()
3) Write the equation of the circle in standard for the following: 4
r=2,(hk)= (2,-1) =y ¥
4 bon 4 X ~axp},
(k-2)"% (yr) = ¢ .
y C"/Vl =y
éki’;\"“/'f/ xl=
y = riond. QA»,,L
ok >
Chrai ‘

Y ekt



5) Given the point: {1, —3), state the points that are symmetry to it about the:

a) x-axis (¢ 3)
b) y-axis L (-, =3)

¢) the origin (-} 3) N _
6) Find the center (h,k) and radius r of the following circle: x-yy +4_+ Yy *,«-é/raz =232 £y,
2 2 _ 4 6y = - -
((2,-3 rzb TV TEEOIEE ) Gtax
10/2/2015
2) Given: f(x) = —. L X
) f( ) 2x—5 _ 22 o) 220 ﬁ’
a) [s the point (0, 2) on the graph of /7 ~20
b) If x = —1, what is f(x)? £ly = - - 4 /1
o) If f(x) = 1, what is x? X AT 7
TX=s / e Ax-$= X
3) Write the equation of the circle in standard for the following: ;32 2y
Endpoints of a diameter are: (2,3) & (—1,—3) rz 3J5 (X'F) +() "= 7
R =l i M0
**Bonus: Solve the following system of linear equations {Hint: Cramer’s rule would be very
useful): D=7 0 L
= 2 =7 X=2
Zx +y =3 /4 .

e+ oy = 4 »=1 [ 74 {
10/9/2015
1) Use the graph on the right to answer the following question. ¢ R
a) What is the domain and range of the graph? Is it a functiong? E"fj ‘{J 1
b) What are the intervals of increasing and decreasing of the function? <t
c) Is the functlo odd, or neither? T (-4,9) £: [0}'{] _q(/ : =
2) Given: f(x) = 2xx_5_ _ 0> (o ¥) - : —— ;{
a) Is the point {0, 2) on the graph of /7 no - W .
b)If x = —1, what is f(x)? % T
O If f(x} =1, whatis x?_

5
3) Given the following piecewise function, find each value.
x*+1lifx<1
fix)=92+xifx=1

9—xifx>1
&) f(1) = 3 by £(0) = | & f(5) = ¥
4) Find the average rate of change of f between 2 and x. I_(fﬂ):._);@ _,l ¥ 7 - 2 [,a:- 2)
fw=22 A2 x-2

[27

-y




10/30/2015
1) Given the following sets of points and graph, 1) Is it a function?, 2) Find the inverse., 3) Is the
inverse a function?

D (12,23, (-1,-9,0,6) ok a funh,, dveser §6371), (22), (1) (o)7

b) {(s,e), (t, h), (0,C), (y.d)}/,,, Frncths,
c)
yes Ti§len), (), (4o), ldy)§
g
yes res.

4) Given the function: f(x) =2x -5
a) What is the domain and range of the function? §. /-e,4)
b) What .is the invers_e‘? XES 2 R, [-00.0)
¢) What is the domain and range of the inverse?

Seme,

5) What is the domain of the following function? -5
4 x 4
Df() ==V T8 77 hro=% of(x)=
3x—12 ¢ Y x—8 (/Cg,ag) V2x+10 _
x¥ R 4 q)yGe) (UL (59 xps X
11/6/2015
Trig Quiz

1) Convert the following angles to degrees. Put your answers in decimal form.

VHE e W a0 15l < geq e

2) Convert the following angles to radians. Leave z,in your answer.

a) 1_6_9‘1}2(_, ~ £ b) —609 - /c)90° 2]
182 7 ¥ 5 we (=
3) Convert the following from decimal form to seconds and minutes.

a) 15.2542 x4y |$°15715"b)14.1519 lye 9’7"
5) A wheel is turning 30 revolutions per minute. If the radius is 4in, what is the linear speed of

the wheel? 30 ey ).,T(r;/ = 507( m‘/ vt er

win [ - =berty =24
6) Convert the following from seconds and mifitites to decimals. t L@
a) 19°6'18” +60 - 9.5

b) 25°1'59” + o 2 28, 23]
11/13/2015
1) Convert the following angles to degrees. Put your answers in decimal form.

a) ?: f){’ = 200° b)%z 160°

2) Convert the following angles to radians. Leave 7 in your answer.

a) 235°) 71 by =75 A _[F
/

477
36




3) Fill in the following table for the angles given. (6pts)

8 - a) —60° b) %}3 ¢) 270° d) %’I 3,0 | €)0°
Quadrant: 17 gin o 1t I bl T <
sin0) |~ G2 |+ [2/s -1 -7 O
cos(@ |+ Vo - J2/2 O — Lk !
tan() |- /3 - | und + /s O
ese(@) |\~ f545 |+ B —~{ - X ard
sec(8) |+ 2 - /3 wnd —25/ {
ol® |- J3/5 |- | o v J und

5) Usc the point (—4, 3) to make the terminal side of an angle. What is the sine, cosine, and
tangent of that angle? (Leave your answers in fraction form.)

12/4/2015

E) tanz x EEJSg x Si'ﬂz X b) EJ i Ean’z ;§) S].H% ¥ EBHQ X
L3 E

2) Using the triangle on the right and the values given, fill in the following

chart. a
Trig Function |a)a=2,¢ =3 |bja=4,b=3 2
siné 23 s
cos 6 V74 Y
tan @ 275 s 4/
csc 8 3/2 574
sec 1/5/5~ 573
cot 8 2/5 Yy
4 sin8-=03-thenfind-the-foHowing:
a)-€05(90—8) b) sint 8 cyeost o dy-sect g
B2H201s _
- 3
Tests 1, 2, 3, Midterm
1) Simplify the following expressions and write 1t with positive exponents:
7k3 A x—2y3)° o
a) 612 2K°5* b) (—'"'"—J'l ’LJ /
¢) (2x » 3x3)? dx*y?(4x?y )

Jéx'f{

I{XG}/C’



